Math 109                    Quiz 9           11/15/07    
1.  Given the parabola  f(x) = 5(x+3)2 +2 
      a.  What is its vertex?  (-3,2)
      b.  What is its axis of symmetry?       x = -2
      c.  Does it open up or down? How do you know this?
          It opens up because the coefficient of the x squared

          term is positive.
2.  Given the parabola  f(x) = 5x2 + 8x + 7.  What is its vertex?        (-4/5,19/5)
3.  The highest power terms in some polynomial functions are listed below.  List all of those that could possibly correspond to the given graph. [arrows mean it continues

in the same up or down direction]

x5 ,  -x5 ,  x6 ,  -x6 ,   x7 ,  -x7 ,   x8 ,  -x8 ,  x9 ,  -x9 ,  x10, -x10    
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                      x7       x9
4.  If the highest power term in a polynomial is -4x11, what is the maximum number of times the graph of the polynomial can intersect the x axis?   
  11 since the number of x intercepts is at most the degree of the polynomial (power of the highest term).
